3. Directions : (For Question No. 3) Directions : Questions No. 4 & 5, choose the

Out of the four groups given, select the word which is the synonym or nearest to the

group/groups that consists of all correct

plural

meaning of underlined word in the sentence

formed from singular and and shade/blacken the corresponding circle in

shade/blacken the corresponding circle your answer sheet.

In your answer sheet.

A. a. knife - knives | 4. Everybody in the assembly shouted and
b. louse - lice ] there was a pandemonium in the hall.
C 0X . aiaie l, A - (1) Laughter,
. ' | (2) Silence”
d. book - books JI | 0 Teoh

. . B - fish (4) Crowd,
b. fungus - fungi
c. woman - women B The Leader’s Charisma attracted many
d. tooth - teeth 5 followers.

: (1) Magnetic appeal”

=8 hoof - hooves °’ e
b. goose - geese (3) Humility,
c. foot - feet C 5 Gandons.
d. plant - plants

D a shirt - shirts 6. Directions : (For Question No. 6):

| b tie . ties Add a suitable question tag 10 the

. : D sentence given below and shade/blacken
e i i the corresponding circle in your answet
d. moose - MOOSES

sheet.

Select the code for the correct ANSWEL “Your parents have returned from

from the options given below :

America.”
(1) Band D only (1) Have they?
(2) Band C only, (2) Are they

(3) A, BandD only
(4) A and Conly

(3) Aren’t they 2
(4) Haven'tthey?

492-Q 3) )
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Directions : (For Questions No. 7 and 8) In

the following questions, a sentence is 8IVED

in Direct Speech. Out of the 4 given

alternatives, select the one which best
expresses the same sentence in Indirect

speech and shade/blacken the corresponding

circle in your answer sheet.

7. Neha said, “Where are my books ?”
(1) Neha asked where her books was,/
(2) Neha asked where her books are,,

(3) Neha asked where her books Were:

Foresightkas.com

(4) Neha asked about her booksy

8. She said to him, “What a cold day !”,

(1) She exclaimed sorrowfully that it

was a cold day,

(2) She exclaimed that it was a cold
day, .

(3) She exclaimed it being a cold day,

(4) She said to him that it was a cold

day./

492-Q

Directions : (For Questions No. 9 & 10) :
A sentence has been given in active/passive
voice. Out of the four given alternatives,

select the one which best expresses the same

séntence in  passive/active voice and
shade/blacken the corresponding circle in

your answer sheet.

9. “She was cooking dinner.”
(1) Dinner was cooked by her,/
(2) Dinner was being cooked by hgf
(3) She cooked dinner,/

(4) Dinner was cooking her,,

10. “My mother encourages me ‘to

(4

participate in the play.”

(1) My mother will have encouraged me
to participate in the play,.

(2) I would have been encouraged by
my mother to participate in the play:

(3) My mother has encouraged me to
participate in the play.

(4) I was encouraged by my mother to

participate in the play,
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Directions : (For Questions No. 7 and 8):1In

the following questions, a sentence is g1Ven

in Direct Speech. Out of the 4 given

alternatives, select the one which best

expresses the same sentence in Indirect

speech and shade/blacken the corresponding

circle in your answer sheet.

7. Neha said, “Where are my books ?”
(1) Neha asked where her books was.,/
(2) Neha asked where her books are,,
(3) Neha asked where her books WEre: -

(4) Neha asked about her books .

8. She said to him, “What a cold day !”.

(1) She exclaimed sorrowfully that it

was a cold day,
(2) She exclaimed that it was a cold
day,

(3) She exclaimed it being a cold day,

(4) She said to him that it was a cold

day./

492-Q

Foresightkas.com

Directions : (For Questions No. 9 & 10) :
A sentence has been given in active/passive
voice. Out of the four given alternatives,

select the one which best expresses the same

sentence in passive/active voice and
shade/blacken the corresponding circle in

your answer sheet.

9. “She was cooking dinner.”
(1) Dinner was cooked by her,/
(2) Dinner was being cooked by hg,
(3) She cooked dinner,/
(4) Dinner was cooking her,,

-10. “My mother encourages me to

@

participate in the play.”
(1) My mother will have encouraged me
to participate in the play,.
(2) I would have been encouraged by
my mother to participate in the play<
(3) My mother has encouraged me to
participate in the playc
(4) T was encouraged by my mother to
participate in the play,
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Directions : (For Questions No. 11 & 12): Directions : Questions No, 13 to 15 are

Choose the word which s based on the degrees of comparison (positive,

Opposite in

comparative and superlative), Fill in the

meaning to the underlined word in the

blanks with most appropriate word/words

following sentences and shade/blacken the

from the given alternatives and

corresponding circle in vou . |
; . et ekt oo shade/blacken the corresponding circle

accordingly in your answer sheet.

11. Sometimes he punished himself when |

13, Take the of the two cakes.

others were inclined to exonerate him.

(1) smally,

(1) contracy | (2) smalley

(2) accuses ' (3) smallness
| (@) small,
(3) admity é |
(4) reject, | 14. No other exercise is as __ as
running.
. . (1) harder
12. Indian forests are being whittled down
- (2) hardly”
bv insensitive people who seek to use
. | £ (3) hardest~
' ' rve their selfish
tiger habitats tp se &
motives.
(1) deforest, I . 15. Nittila is student in the class.

(1) the most intelligent
(2) increaac/ f

(2) much intelligent-

) it 4 (3) more intelligent”
(4) declmatc/ oy (4) an intelligentesy’
492-Q | | (5)
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Directions : For Questions No. 16 10 18, an

ad - 36,
idiom or phrase has been used In sentenc

You have to choose the sentence which

explains the correct meaning of that and

shade/blacken the correct answer in Yyoul
answer sheet.
Example :

My brother and 1 sometimes do not se€

eve to eve on certain matters.

(1) My brother and I sometimes agree

with each other on certain matters,

(2) My brother and I sometimes do neut

agree with each other on certg?n

Foresig

matters Y,

(3) My brother and I never agree with

each other on certain matters.”

(4) My brother and I frequently agree |

with each others opinion on certain

matters,/

Explanation :
The answer is option (2) as the

underlined part means “not agreeing
with each other on certain matters”,

So you have to choose option (2) and
shade/blacken the corresponding answer
in your answer sheet for this example.

492-Q

18.

16. He took up the cudgels for his friend.

(1) He defended his friend strongly,

(2) He never defended his friend

strongly,,

(3) He did not agree to defend his friend

strongly,,

(4) He refused to defend his friend

strongly,

. Opening up of a new pastry shop is on

the cards.

(1) Opening up of a new pastry shop is

impossible,/

(2) It is definitely possible to open up a
new pastry shop,

(3) Opening up of a new pastry shop is
likely to happen.-

(4) Opening up of a new pastry shop is
likely to be put off,

The lawyer cleverly turned the tables on
his opponent.

(1) The lawyer snatched away the
advantage from his opponent for
himself,/

(2) The lawyer did not give advantage
for himself and for his opponent,/

(3) The lawyer neutralized the
advantage taken by his opponent.

(4) The lawyer gave advantage to his
Opponent.~
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Directions : In Questions No. 19 to 21, each
question contains a paragraph of 6 sentences.

The first and the sixth sentences are given in
the beginning and end and mﬁﬂbcred l and 6
respectively. The four qeﬁ{@ces in the
middle are jumbled and labet@ P, Q, R and
S. You must identify the proper order of
these four sentences and shade/blacken the
option that correctly identifies this sequence.

Example :

(1) One day a few hunters came into the

forest and took the lion with them.

(P) The lion was struggling to get out

and started to whimeq.

(Q) Soon the mouse \g;i(ed past an

noticed the lion in tégble

-
(R) They tied him up against a tree.

(S) Quickly he ran and gnawed on the

ropes to set the lion free.

(6) Both of them sped off into the

jungle.
The correct sequence is o
(1) PQSR (2)‘;:§PQR
(3) RPQS . . (4fZRSPR

Explanation : The correct sﬁcnce or order
in this example is RPOS.
So you have to shade/blacken option (3)

in you answer sheet.

492-Q

Foresightkas.com

™

19.

- 20.

Speech was the first means of
conveying information.
Thirdly helped in

dissemination of knowledge in a

printing

permanent form.

Computer 1s the only medium that

“cannot only store but also analyse

information to make decision.
However all these are passive
media.

Then writing as a means introduced
a capacity for storing information.
Therefore computer is hailed as the

fourth information revolution.

The correct sequence 18

(1) SPRQ_. (2) PRSQ/

(3) SRQP (4) PQRS ~

1. Public speaking is being practised

| increasingly these days.

P. Everyone of us feels stage fright in
different degrees.

Q. It has become a necessity of life.

R. Look your audience in the eye.

S. Take a deep breath and start.

6. With practice, it is possible to
become a good public speaker.

The correct sequence is

(1) RPQS_-

(2) SQPR~

(3) QPSRY

(4) PQRS/
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Jane Goodall was a famous scientist

21, 1.
who studied the behaviour of the
chimpanzees and discovered that
they use tools.

P. Chimpanzees have been using tools
almost as long as man has been
doing so.

Q. They not only use tools, they make
them too.

R. Typical objects made into tools
include stems, twigs, branches,
leaves and rocks.

S. They use these objects for any§
purposes, including feeding, %’
drinking and feeding themselves.
Sometimes they even use these
objects as weapons.

6. Jane Goodall telegraphed Dr.
Leakey about her observation for
which he said “Now we must
redefine ‘tool’, redefine ‘man’ or
accept chimpanzees as humans.

(1) PRSQ,

(2) RQSP/

(3) PQRSy

(4) SQRP/

492-Q

(8)

Directions : In Questions No. 22 to 24, there

which are divided and

are¢  sentences

numbered into three parts, and one of the

parts may contain an error. Identify th@D
by (1), (2) or (3) given under the parts of the

sentence. If there are no errors, mark (4) no
error. Shade/blacken the corresponding circle

In your answer sheet.
Example :

Neither Radhika nor her friend

SRl | RS
were happy with the results. /No error
3) ; (4)
Explanation :

The correct answer in this case is option (3).
It should be “was happy with the results”. So
you must shade/blacken option (3) for this

question in your answer sheet.

2. Evgl_'xbcl)dx love /
0)
the rainbow and the clouds
(2) |
in the sky.
(3)_
No error
v
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3 Neither food

(1), lr
nor water are
(2)
to be found there.
3) 7
No error,
(4)

Either the president ’
(1) gl

or the secretary have an
2), :

option to donate funds.
(3)

24.

No error
(4)

Directions : For Questions No. 25 & 26, éll
up the blanks with the approprigte
preposition  and  shade/blacken  the
corresponding circle in your answer sheet.

25. He was afflicted
illness and was hospitalised

two weeks.

(1) with, for.~
(2) by, since ~
(3) by, about .
(4) from, for ~

a Serious

26. The snowfall ~ Canada varies

_ place to place.
(1) through, about,

(2) in, from,

(3) from, in,

(4) on, from/

492-Q

Dlrecg,mf : Read the following passage and
answer the questions that follow (Question

Nos.
questions should be based on the passage

27 to 30). Your answers to these

only.

Pabangs

Happy is the man who ag_ql_xires the habit of
reading when he is young. He has secured a

life-long source of pleasure, instruction and

inspiration. So long as he has his beloved

books, he need never feel lonely. He always

a pleasant leisure

has occupation of

__ e ———

He is the possessor of wealth more precious
il —— . r.'.’r__‘-‘
/b

(booy “King's

Treasure” — treasuries filled, not with gold

than gold. Ruskin calls

and silver and precious stones, but with

riches much more valuable than these-

- knowledge, noble thoughts and high ideals.

9)

P_cmr indeed is the man who does not read,
and empty is his life.

27. Attaining the habit of reading books at
the early age, helps a man to

(1) feel lucky for having possessed that
habit

”

(2) become famous

(3) gain many good things which stay
with him permanently -

(4) lead his life undisturbed
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28.

29.

| (1) Freedom ~

The person possessing books will not

feel lonely because he can

(1) always happily indulge in reading at
his free time - |

(2) understand life better

(3) always escape from reality

(4) have the company of his books’

Books are the real treasure of a King, as
they are filled with

(1) gold and silver /
(2) precious stones/
(3) valuable things -
(4) noble thoughts and ideals”

Pick the word that does not mean

‘leisure’
_—

(2) Occupied 7

(3) Respitg/
(4) Relaxation”

Foresightkas.com

Directions : In Questions No. 31 to 33, you
have to choose the word from the options

given which has the same meaning and can

be used in the same context as the underlined
word in both the sentences and mark the

correct answer in your answer sheet.

31.

(A) His understanding of the subject was
really good.

(B) He had to hold onto the handle of
the door with all his strength. -

(1) power,

(2) pull,

(3) grasp

(4) make,

32. (A) The management did not find him

suitable for the job of a receptionist,

A7
(B) Manya failedto arrange the parts of

. €
the machine P,roperly.

(1) adjust/ 1
(2) deploy, ™~

(3) harness/

(4) fit ,
33. (A) The message was written on a piece
of paper. Eg
(B) They were %ced to cancel plans for
a new building.
P
(1) box , M
(2) scrap,
(3) first /
(4) grasp

Directions : To answer Questions No. 34 &

35, choose the correctly spelt word from the
alternatives given and shade/blacken the

corresponding circle in your answer sheet.

34. (1) EMBARRESED

' (2) FESABLE & .
(3) UNSCRUPYIEUS 7
(4) COLLATERAL

35. (1) HIERARCHICAL
(2) MISCELLENEOUS,
(3) PRATITIONER”

| (4) TRANSMITION”
; 0) - |
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GENERAL KANNADA

36, ‘JBFID
(1) QT8 ,

TOE T,

(2) &aﬂ% /
(3) emsmqso:;
(4) el ~

37. ‘TS ITY)
(1) %FRo0

(2) SDIJAE XY |

RO TR,

(3) RBeOFOEPFROQ

(4) =3 3R, |

For&ghtkas.com

38. on IZ0HDT emag.pxoa egp’m

QY Ze3.

1
(2) 1:3035 » |
(3) S0,

(4) &3,

39.
(1) d,FE
(2) z;amv:s‘ o0 7
(3) dAeTr Y ~
(4) SIrSRS WY

492-Q

40.

41.

42.

43.

(11)

Xonen  S0uINW  Beomon
20T FTOINTVT.

(1) w30080NSO

() BARPRES

(3) QepF ﬁﬁmid,
(4) MOEIZFONEO 7

‘fadl&’ 0T

(1) BROFFOTOD TSR
(2) Q> IIRT -

(3) SBRTOR IRIRI 7

(4) 08 NIRX

‘TTAT TETYF A Q0w SFTY
SNG.

(1) DeFFET.-
(2) BIFS.
(3) w3BT,

BRBEQ, COIRT Tuod IToF LT
8, T, Femen T QATITO

(1) W0 g Hsowedr,
(2) R.30°, ‘U‘anm& )y
(3) &e.30. & e80T, ~
(4) Toed moﬂwm@

n
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Aeud : and wond 1OOIRT
XRUWRO.

44. ‘dgﬁ:)’ ROLOT .

(1) QT To,
(2) &) eoHTFS q:m:!_\;
(3) VBROFT P/

(4) TEOFT oD~

45. XITTON TR RO deor, O3 B

STEDOD  [3Y TEE  gSorsn

FONT

Foresightkas.com

(1) Aooees,
(2) 8.8 TR0~
(3) &T°.%. &TB -

(4) %.%. #andmeaama,

46. ‘BIEOF Ll OUS FHORVORD’ %ecrb szb..-

(1) 230%3,8¢00 BOWT -~
(2) &.8,. eewE
(3) BOTRTT,Z .

(4) 030.&50°. BTOBTRSF .

492-Q

-

30000.
47. 5053 TLORT JWINY 032

_'——--.._____1-

(1) 5@5050’@3&/
(2) nOTeBT/
(3) ﬁ%@s@mhﬁﬁgﬁﬁ /

(4) BRBL RO BT,

R : WoDENET, FOCRT YWUZTH0x

| 20000.

(12)

48

. BRFUBE ‘YT word TG TAC

. BT, YVIERY’ NIV oz at]

WO :5&@3 ;_5)350:{3
(1) %0,
(2) W3~

(3) s&n-

(4) NeT -

T

.

(1) DdoE3,
(2) Reesear .~

Q) nan

(4) Mp%q =
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50. ‘TT’ IS :sc:;;a CRTIed 9 | RS : B9 dotiTos TOL), TTNYY, 2,070

(1) B
(2) JRD~
() JAG /

(4) B ¢

RRE, 9 838 TT. YVOT TR CORADED
TEMLD. 85T TTII ROTLR..

54, (1) ©LOT
| (2) B
(3) 3o -
(4) ©T,00 7

51. TR ADR03T T, ST0TE 2
(1) SITIPFS

55. 89Tt BRLTHS TCE IDHEFY TS

(2) de3088 T
: S P 23633
(3) WRCeyLs (1) ©Be33
(4) To@d - 2) wA
(3) 53%635/
52. TRTOE H00F FOY ORMOINTY (4) VIS /
T30, N33, 39T

(4) 20D @ﬁ e

Foresightkas.com

xRl : 250d N[ FOOINT HVITOOT
WSF WRRD.

56. 2018 U9 BoSWS N 30T ‘TAD
OVI” IP WITID .
(1) BRBNS T, -
(2) .. JoseIeBnSF -

ARus @ mTod opFSd) Ml TPF - (3) B0. DeTET
Roox. (4) TORSBE Wos,BeDT",
S3. eowao 00, §7. ‘CODRIAC TEEE Fomd> T P
(1) nSF 3,00 AR ?
(2) evmRaeSEe (1) Qdead -
(3) BB (2) Touw ~
3) Royiee
@ =¥/ 8 . ;f;tja’
492-Q S (13)
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Rowdd : 28, DedeRnchas T, gt ABDS
TERYY, FRTFES LTI, T
SO0, TRA.

58. ‘X’ TTT ISRTOGFFE TR
(1) |4,
(2) WO,
(3) T -~

(4) <7

59. *uﬂdmbgmcb‘ facﬁagL VR WOOWD.
(1) =NBRe* + VIO,
(2) =RTAW + LU,

Foresightkas.com

(3) AT + LI -
(4) BWNTOT + LVIROWL ~

AousS 1 2Q, BHNTOT DAL Tow
TodRFod mwmagt aeamnc% manuﬁ
pelalovbrin mm uod% NG TSN,

60. B8RV Zeed

(1) Bnexm IRBER

(2) BBROVSOZMOIT .~

(3) BROVT RRWMD .

(4) BIMEMOYT
492-Q

(14)

61.

62.

‘D60’ BT 3P g

(1) ¥3ne0 ~
(2) WIRT .
(3) &0 -~

(4) VT

BRINTY, R3O .
(1) R~

(2) BoTBING 7

(3) JOROFR 7~

(4) 30 -

AU : T 2FoDOT IBBY BrexTY,

AL, DB TTNVE, FOCIRTOTRY TODL.

RGOS e3QOTEA 4’ R roThH3R.

1l l-.-| A =

(3) AT Eﬂ@ﬁq‘,f

4) Bsooety
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Rousd  : OO0 B warise
BI0WTING, . oY um’rmt‘armmqq;
IS ¥R XRUAT ORNVRY R el

SJINY BTF,TDTT) oo, |
FTECE. SoWeRFT F asmw
64. oo
Q R
BN, NES, TINTTO
S P
(1) QSPR - CQ
-
(2) QRPSp- ch
-
(3) RQSP/ . I
(4) PQRS ~ ig

65. FeO% VPRI eONUR)

W e
(1) o0& ~ LL
(2) T8 7
(3) ood 7
(4) 2p0 03 - %
-

*)

66. TOTTCT WRVTRTHI), QO&
)

500030 N

(1) TTYS -
(2) T IS -
(3) TR ~
(4) o3

492-Q

=

67.

68.

69.

ARUS

‘9% OF Q0w T odeennd) B3 DO

(1) VOB woLss -
(2) NOIIOLIT -
(3) o'g,UUU' WOL3E

(4) R0a30,0uE

ORBT[IT  OUAT ‘g S
DOST FoT, ?

(1) moons, o, ,
(2) 3 oMU T,
(3) Wop T,

(4) WD TS, ~

&, TOOD VT T
(1) B esoes 3% TORS,
(2) SPNO0T TXS ~
(3) m,g TR

(4) BORZII
pninleve

OPFIR) M

TREVF TN,

70'I

HRe0T BoRoN, RS ek
(1) @1 8o ,
(2) WoWE
(3) X oo/

(@) BERTOBY W& 7
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COMPUTER KNOWLEDGE

71, In Excel, After you filter data, you can

e —

—

(1) Edit, format

(2) Chart and print the subset of filtered

data without rearranging or moving
it -~
(3) All of these /

(4) Copy, find -

72. ISP stands for
(1) Internet Service Provider
(2) Internet Standard Protector ~
(3) Internet Standard Provider ~

(4) Internet Service Protector

73. Which of the following Excel charts is

the best chart type for comparing values
ries when the chart

across a few catego
show duration or the category text is 1ong 7
(1) Bar _

(2) Line -

(3) Function ~

(4) Pie L

92.Q

Foresightkas.com

(17)

74,

73.

76.

What is the format of e-mail address ?
(1) <domain-name>%<username> ,
(2) <domain-name>@<username> ~
(3) <username>@<domain-name>,

(4) <username>%<domain-name> ,

The process of re-sending an e-mail
message delivered to one e-mail address

to one or more different e-mail addresses :
(1) Reply all

(2) Forward 7

(3) Copy ~

(4) Replyto,

Webpage has unique address called as

(1) FTP ~
(2) URL 7
(3) SMTP -

(4) HTTP,
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which menu you can find : '
,In features like 79. Which is the equivalent English letters

Tables, Picture, Shapes, Text for Lforieadd in Nudi software ?

Box. 1]

WordArt, etc in PowerPoint presentation (1) BemGlUru ,

(2) bemglURu /
(1) Design 4
(3) BEmGLuRu/

(2) Animation / (4) beMgLUru/

(3) Insert, 80. Nudi 6.0, it is based on

| (1) Bilingual font-encoding,
4) Home /
i (2) Unicode encoding /
(3) ASCII encoding 7/

(4) Monolingual font-encoding/
78. Which function key is used to start the

slide show from current slide ? 81. What is the use of Ctrl + M shortcut key

in PowerPoint presentation ?

(1) Crl+F5 (1) Inset a new slide in new

presentation,,

9 ,
(2) Shift + F5/ (2) Opens a new presentation. /

(3 (3) To save the presentation. ,
) Alt+F5 ~

(4) Inserts a new slide in current

sentation. /
(4) F5 , -

92.Q | - - (19)
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BY conSidﬂl'iﬂg database languages

9l 92.

Symbol of Rectangle in a flow chart

I represents

A, DDL : Data Definition La.nguagg (1) Input and Output operation

- -i.\‘d:.'

(2) Preprocessor

; B. DQL : Da’iﬁ"?uery Language/ I

* N |
‘ | (4) Page Connector/

(3) Processing”

C. DML : Data Migration Language I

| 93. Consider following statements with

D. DCL : Data Control Language | respect to entity relationship in database :

A. In Total participation each entity is

involved in the relationship.

Foresightkas.com

Choose the combination where all are

O - B. Partial participation is represented
CD
CORTect : Eg by double line.
C
lg:j Which of the above given statements
(1) A,B,D~ is/are correct ?
Select the code for the correct answer
?) B.C.D from the options given below :
gy N |
00 (1) OnlyB _
(P
ik 4 (2) Both Aand B,
| gl
| 1 (3) Neither A nor B ,
4) A,B,C, (4) Only A

(25)

Scanned by TapScanner



94, In PowerPoint presentation : 96. With respect to MS Excel Spreadsheets,

A. Ctrl mis used to add a new slide. match List-1 with List-II
B. Ctrl M 1s used to add a new slide. i List-11
| A. Row M. AIlBICI

C. Ctrl N is used to add a new slide.

. B. Column N. TIII
D. Ctrlnis used to add a new slide. |

C. “Cell O. ABC
Which of the above given statements

is/are correct ? P. 123

Select the code for the correct answer | Select the code for the correct answer

from the options given below : from the options given below :
I
(1) Both C and D are correct,., * R R °

(2) Only A is correct,” (1)} B @s o P/

Foresightkas.com

(3) Only D 1s correct. 2 M N O/,

/
(4) Both A and B are correct,, (N F O "M

4. B M N

95. The speed of the mouse pointer can be

adjusted using the
97. What is a Microsoft Windows ?
(1) Pointers tab (1) Operating System,
(2) Buttons taby, ~ | (2) Word Processing Program -
% (3) None of these ~ (3) Spreadsheet Calculation Programy/
% (4) Pointer Options tab, (4) Database Program /
492-Q | @7
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98. How to change spacing between

Paragraphs and Lines ?

(1) Select the paragraph or paragraphs |
you wish to change; Click the
Indents and Spacing Tab:; On the
Home Tab, Click the Paragraph

Dialog Box; In the Spacing section, ‘

adjust your spacing accordingly.
-~

(2) On the Home Tab, Click the
Paragraph Dialog Box; Click the l
Indents and Spacing Tab; In the

htkas.com

Spacing section, adjust your spacing

19

Fores

accordingly,/

(3) Click the Indents and Spacing Tab;
On the Home Tab, Click the

Paragraph Dialog Box; In the
Spacing section, adjust your spacing

accordingly.,

(4) Select the paragraph or paragraphs
you wish to change; On the Home
Tab, Click the Paragraph Dialog
Box; Click the Indents and Spacing
Tab; In th.e Spacing section, adjust
your spacing accordingly.,

@)

99. What is the purpose of MS Excel

Application program ?
(1) Slide presentation

> b

(2) Database,~

(3) Spreadsheet

(4) Text document ,

100.Identify the function that Returns the

smallest number in a set of values.

(1) = LOW (Starting cell address :

Ending cell address)

(2) = SMALL (Starting cell address :

Ending cell address).

(3) = MINIMUM (Starting cell address

: Ending cell address),

(4) = MIN (Starting cell address :
Ending cell address),
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